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7. TFUIS IEHR 59 Wi @ e § 2

(A TFa¥ _ -
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4ﬁ1|ﬁﬂ'
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(C) et = (D) TR
31, M IW A wA@ W A . - (D) FRTAER
(A) FrivEmT (B) forwmarm, - (C) E
32. ‘AR’ = e s ¥ e Q) T
(A) wifes (B) Wi - (C) i A aﬁe’ﬂ““ﬁfﬂa}a
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Y TES A TS HN & | W R o Firoferes forg o & T ©, ST TR AT TR T SR ST ¥ gHE, @
T shee R T TR SR fes aR A @ for@t| 3 gaR T Wk ST S &7 §, Tk ST AR Rl S5 g,
IRE H ST b1 FHaN | Ueh T8 ST ol 57 g7l B, U Rgfoa oifica § oS © 1 e, 3 a1 it 7% 7 @ ok
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33. TRIY % STER, 379+ U ! WIhR i & AU & a1 63 BT 2

(A)  FHE-ISHT AR AT BT (B) 3TUR 7 Wehs & BN
(C) =nfca afkem e M o (D) TREErEm dm

34. TTRIRIHR Y Tt % TR FEM S 1 I HEEhian W 7
(A) T el THheHehR "(B) T WE T T
©) RTwre@A g (D) T wem Writamr

35. wfasy wRaanfadl & fag B =
(A) TR v = H R (B) R T
R - /(D) s & ik
36. W%mm@a%?ﬂmwﬁpﬁ%ﬁm,
(A) FTTNRF - (B) FTMER (0) sy gy (D) sroeft T
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37.

38.

39.

40.

41.

42,

43.

a4,

45.

{TRE WA A e Y w2

(A) TS fiver (B) ST W ST i frer

(C) TR =t sTHFmST @ e (D) T wstt =t qan e

STt 5T T e Yy 2. Cod

(A) =2 (B) W C)- fifim (D) =@
The national currency of Sri Lanka is : Cx)

(A) Euro (B) Kyat (6)= Ringgit (D) Rupee

= 2021 F A % 3i § werf 2000 TR % W g (v e ) w20
What is the value (in INR trillion) of Rs. 2000 notes.girculated at the end of March in the year 2021 ?

(A) 4.90 (B) 1.90 (C)-: 2.00 (D) 6.00
I T I I IR SIS TRGe o RO - St 3 s S % fere ST S &2
(A) RIS (B) eArefern (C) snferw (D) =S
Which country is known for its extensive use of geothermal energy due to its unique volcanic
landscape ?
(A) Iceland (B) Australia (C) "Brazil (D)  Norway
TEL &M | ITFR 1 SR 9 het Ty Sh. 50§ T v @it by ohen S 2 ¢
(A) el S (B) VamEH (C)-, STvarE (D) u¥E I=M
The economically secure white people migrated:from urban areas to suburbs is called :
(A)  Blackflight (B) Migration (C)~ Immigration (D) " White flight
How many countries are present in Africa ?
(A) 56 (B) 50 (D) 52
A H * SATEE W g2 e ? MRLE s
(A) SR H IiharE foReh 1@ ~(B) T« Tl sifEm
(C) Tcsh Ul whi ekl forielt i (D) UA-TrEE SwE
What is the ‘Operation Green Hunt' in India ? ‘ R A
(A) Counter-insurgency operation in Kashmir (B) Anti-Naxalite operation
(C) Anti-drug trafficking operation (D) ¢ Anti-piracy operation
ST (WPI) o1 quf %9 © : BAa ey
(A) el U S (B) IELIEd e
(C) B« e (D)  EieTdet WisH 3
The full form of WPI is : Aoy
(A) Whole Price Index (B) WallPrice Index
(C) Whole Print Index (D) Wholesale Price Index :
fercirar = e sromet Bt el o s NUR TR % wew F SRt g firer
(A) 4-57@ (B) 1-2wm@ (€)™ 10-11 o1& (D) 7-87™@

The financial or the banking system will receive an“additional boost in terms of Crore of

base money each year. :
(A) 4-5lakh (B) 1-2lakh (C) 10-11lakh (D) 7-8lakh
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46. M W siadgia Ty o= % s W S 87 e »
Which international treaty focuses on the rights of children PR
() ICERD ® CcRc . {0 ceoaw () [CF s
47. aﬁqmmwﬁgwmqﬁﬁgmmﬁwﬁmaﬁﬁ?ﬁmm 7
(A) TR St i fafie (GAIL) [-.(B) T T e e
L)t oSl Sty T R s --3(D) e S tic gas on Indian Gag
Which company has become the first company in India to trade domestic g

Exchange ? herat Petroleum
L) "(B) BharatPetro o
(A) GasAuthority of India Limited (GAI ) ( ) o Ol Cofarailof Limited

(C) Oil and Natural Gas Corporation Ltd

48. SAARC T Hais 1§ ?
(A) =Y TR THfTE ®R S a?ram‘(m
(B) URY THIHT THMAWRM B IS hISHIEH
(C) URY-T= UMK THIATRH BR Jerer HIstiaRH
(D) URY RS THIETH R IS hIATIEM .
SAARC stands for : '
(A) South Asian Association for Regional 'Co()peratlon
(B) South African Association for Reglonal Cooperatlon

(C) Southeast Asian Association for ReglonaI Cooperation
(D) South American Association for Reg|0hal “Cooperation

49. USRI g WRifgd Aefred OTT st - Wmmﬁﬁﬂmﬁm7

A
|
i

ll

(A) Tifaa sreamit (B)ﬁ_j\maﬁsm

(C) = Azan (D) . Jawme wRg :
Who directed the critically acclaimed Netflix O'IT series - Delhi Crime ?
(A) Nikhil Advani (B) “Hansal Mehta

(C) Richie Mehta & (D) Vishal Bharadwaj

50. &Wﬁ@@lTCWT’f@TW%7

(A) FTE oFT HHH (AR HT ST )

(B) TYS 5 hfge

(C) M ST Ul 3

(D) e g8 M (3Tiafer SR afursy

In terms of economy, what is the full form ofF-ITC ?

(A) Internal Tax Commerce sty

(B) Input Tax Credit

(C) International Tax Company
- (D) Internal Trade Commerce

51. Wﬁ@qyamm%ﬂ%ﬁmw't
(A faar (B) &R (C) feEsR (D)

National Milk Day is observed in India, in which month ?
(A) September (B) November (C) December (D) June




52. g ST SAfufem, 1956 fhm X ifd W emy S €2
(A)  Fa (B) HEHI® H (C) TN TN
National Highways Act, 1956 is applied to which.tax policy ?
(A) Service tax (B) Professional tax L(O) Entry tax (D)
53. TIifeeR STE (W AR weW) e e F ¥
: £ 8
(A) AT (B) W (C) wewfd (D) oW TG
Galilean satellites (or the four moons) belong tq which Planet ?
(A) Neptune (B) Saturn (d) Jupiter (D)
54. QW 4T FW i fEee W R?
(A) gufd (B) IhYMT 31ee
(C) WA & &I R (D) WS
Who has the power to dissolve Lok Sabha ?

(A) President (B) Speaker of Lok Sabha
(C) Chief Justice of India : (D) Prime Minister

55. ﬁwﬁf@aﬁﬁaﬁ?mrﬁeﬁn@ammmﬁw(MGNREGA)aﬁqesfaﬁm%?
(A) i ad 100 T & a7 ISR A
(B) ot & H I o
(C) Faet U ARTHI B A FE
(D) mmmm

(D) oA

Toll tax

Uranus

(MGNREGA):?
(A) Guaranteeing 100 days of wage employment per year
(B) Offering employment in the private sector
(C) Targeting only skilled labor ‘
(D) Providing urban employment

" 56. ASEAN (nfaar) & dey #f s &1 ‘wee 3=’ Hifd o1 w1 7o €2

(A) m—ﬁqm%?ﬁé?maaf%mwﬁﬁﬁnmw&ﬁﬁmﬁ%
(B) SR % STIET ¥ hdl § RE

(C) e Wil i Hfird hedt &

(D) SrerTEErs HfE #1 g i & o

In relation to ASEAN, what is the importance of Indla s Act East policy ?
(A) Enhances economic, strategic, and cultura| t:es with Southeast Asian countries

(B) Reduces trade opportunities i
(C) Limits diplomatic engagement
(D) Promotes isolationist policies

ﬂ"‘"'l{‘ :
- A.ll'll
o Jfem
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57.

58.

59.

60.

62.

63.

‘ | 7
el 8, Foret e Y s s 3 for 2024 i e, i A SRR R

(A) <sEe-3 frem (B) W 3ffefet e

(C).. TR R (D) <fE-2 fier loration ?
Recently, which mission received the 2024 John L. ‘Jack’ Swigert Jr. Award for space exp '
(A) Chandrayaan-3 Mission B) Mars Orbiter MISSIOH.

(C) Gaganyaan Mission (D) Chandrayaan-2 Mission

DDoS T §el T R ' -

(A) Tefgmpee Ta silw wfiy (B) ~erivae fere il afdd

(C) fTeice fommm ofiw wife (D) . fefigeps feama oiw afdd

Full form of DDoS is .

(A) Distributed Data of Serwce (B) ~ Direct Denial of Service

(C) Detailed Denial of Service " (D) Distributed Denial of Service

2014 ® Wi ¥ ot Wifd TR forem wre fpan ?

A) o ¥ (B) %o wemelf  (C) HeX I (D) ifean qUe

Who received the Nobel Peace Prize in 2014 in India ? ) :
(A) AmartyaSen  (B) Kailash Satyarthi (C) Mother Teresa (D) Nadia Murad

s T ‘T Red offw g A m%mﬁ“@@ﬂé%?

(A) Toe Azm (B) TH.NA. %Ml & %(C) I e (D) &g el
Famous book Thg Return of the Native’ is wrltten by whom ?

(A) Bill Gates (B) MM.Kaya . (C) LioyDouglas (D) Thomas Hardy
T fefaied 7 & fem a0 # s afes Sg R ? :

(A) TTEEE (B) TSN —.5(C) dieH (D) WeNE

Ellora is a sacred site in which of the following:state ?

(A) Rajasthan (B) GUJarat ;H__ _;(C) Karnataka (D) Maharashtra
oAt S 2

(A) ésrrﬁa»"a’rmﬁﬁaﬁaﬂ%wwawaﬂ%%‘
(B) SIS Sl A % SHIER 1 STHIT iy &

(C) éamvﬁéﬁaﬁﬁwmaﬂﬁ%
(D) %mﬁma}mﬁnweﬂwmﬁ%

Who are ethologists ?
(A) Scientists who study the behaviour of wuld animals
(B) Scientists who study the behaviour ofthumans

(C) Scientists who study only plants ]
(D) Scientists who study ethos

wu&m@waﬁwwmﬁmwwaﬁa@wﬂﬁﬁwﬁa%%ﬁqwm%?
(A) WS (B) heerh £.30) @ (D) FfgE -

Which traditional dance form originating froffjttar Pradesh Is recognized for its dramatlc storytelling
and intricate footwork ? -

(A) Bharatnatyam (B) Kathak (C) Chhau (D)  Kuchipudi

all

nl

1‘”I ”
] A "!.11
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64. WHTTHN ®Eel S Ak (PMFBY) w11 ¥ ?

(A)
(B)

(©)
(D)

(A)

(B)

(C)
(D)

@W@?ﬁum@mwﬁ?aﬂtméﬂ%aﬁ;w I
i A Ffy faferdi o sram & forg Rl

WWWWﬁQWW%WQﬁWﬁwﬁﬁW# T J&H
l

%?ﬁmaﬁﬁmﬁam%aﬁmﬁaﬁmgﬁmm
Fi & § gRAEe SR o1 G HIE ) e Gifea s €1

What is the Pradhan Mantri Fasal Bima Yojana (PMF‘BY)

Supports and promotes organic farming practices and prov
adoption of sustainable agricultural methods.-. : Provides subsidies to farmers for the

PMFBY improves rural infrastructure and provides em o :
agricultural communities. P ployment opportunities to youth in
It regulates agricultural markets and ensures fair prices for farmers’ produce.

Supports sustainable production in the agriculture sector.

65. feoex iR =M S Wi Hifedn wewd W ' SUwEs sk’ oo agim £2
(A) AT HESeh Al a1 Wieq | Heitud § 31K i §

(B)

(A)
(B)
(C)
(D)

WA | AT i G 3ifies §
(C) W 1 IWART faamH & fore foran siran §
(D) T T STEFER TN Teharn i &

The account is used for advertising
The account is frequently used

What does “verified account” signify on social medla platforms like Tw1tter and Instagram ?

The account belongs to a public figure or organlzatlon and is authenticated

66. WFE TR il Wi Saun 1 feat et § enamaﬁmw%?

The Universal Declaration of Human Rights is translated into how many languages ?

(A)

200 (B) 400 (C) 500 ' (D) 300

67. Taa oM a1 8?2

N

ElISN] (B)  STHRI&H (C) Y - (D) wn:«rr

Real is the currency of which country ?

(A)

, Brazil (B) Afghanistan (C%‘a Bhutan - (D) Canada

68. uﬂaaﬁ@m‘@z(iﬁaﬁaﬂwé@)#\ﬁmg@mw%

(A)

ara & ik S fama =Y s@ren <)

(B) AU TE & I} ok Wi Heiell @Twﬁémm|

(C) @m%%@%mﬂmm—maﬁtméﬁﬁamml
(D) <feror-gd i < e e SR Wl Helhl sht Hote e |

What is the main purpose of India’s Look East Pollcy ?

(A)
(B)
(C)
(D)

Promote agricultural development within India-.

Improve relations and trade with European Umon countries.

Enhance cultural exchanges and people-to-people contacts with countries in East As1a
Strengthening economic and strategic ties with Southeast Asia.

MYZ-24
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69. 1942 T W SIS AT & UHA WA ! TETT HIF 9 ?
(A) i€ goa (B) TE AEesIeA
(C) g e “qite femfaem
Who was the Viceroy of India at the time of the Quit India Movement in 1942 7

(A) Lord Wavell (B) " Lord Mountbatten
(C) Lord Irwin (D)-- Lord Linlithgow

70. F S f Tge A YRS A1 SuH W Se srger v ¥ :
(A) Tefm (B) Ta feggfein +(C) Whefmfiim (D) - =ifET
involves changing data prior or.during input into a computer. ' _
(A) Smishing (B) Datadiddling -~ (C) Catfishing (D) E-mail bombing

71. E@W:%, HIAREE AR AL | ¢ .
A)  ongd wufe (B) WM weR  (C) FrRw (D) TR "
Trademarks, copyrights and patents are :
(A) Intangible assets (B) Current assets (C) Investments (D) Fixed assets

72. IM 9139 2021 ¥ foehisT Y w G % S H SYGNT HA el ggel < o T4 ?
(A) STIH (B) S WIEER =, %(C) Tazmels (D) ST
Which country became the first to make use. of.Bitcoin as a legal tender in 2021 2
(A) Japan (B) ElSalvador (C) Switzerland (D) Venezuela

73. ﬁmﬁf@aﬁﬁﬁ?m%ﬂmﬁﬁwﬁa%ﬁqWWWm@méﬂ o 2

(A) TR fohren : (E_ié_z);_ —q‘rﬁﬂa LSRR
(C) WM (VT
Which of the following countries was the first.to achieve controlled nuclear fusion in a laboratory
setting ? {
(A)  United Kingdom 3 (B)==Soviet Union

(C) France ‘ - (D) Unlted States of Amerlca

74. g 67 1 yuue Fiy fea & w0 TN A E?
(A) W T TET FHUER (B) HIE <hl U&l FIER
(C) SHad = dia wIfER (D) g o1 Ugen feq
Which day is observed as No Smoking Day*? ¢ .
(A) Second Wednesday of March (B)- =First Tuesday of March
(C) Third Saturday of January

75.  9RA I GaY SIS WU hiT 9T ? Ll
(A) TEHE IR, 78 ool i,
(B) wufd Rremsit Terrst a%g dugew, 3’&3’
(C) HIEIR ST EIRIeHd, RSUe
(D) R GBI, ShicTehrdl
Which is the largest museum in India ?
(A) National Museum, New Delhi
(B) Chhatrapati Shivaji Maharaj Vastu Sangrahalaya, Mumbai:

(C)  Salar Jung Museum, Hyderabad
(D) Indian Museum, Kolkata
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. 7.

77.

78.

79.

80.

81.

82.

83.

84.

(A 72(2/3)% (B) 66(2/3)%

T e a7ufen w2 o & fou 5% @t XA =hdfs = 3280 T09 ¥, o 7ot TR fepat §2

The compound interest on a certain sum of money for 2 years at 5% is Rs. 3280. Then the sum is -
(A) Rs. 36000 (B) Rs. 32000 (C) Rs. 34000 (D) Rs. 30000

af% 6 BT 1 aiter W 50 o ; 2 S 41 i MR 53 Fon 8, e 2 B o e w7 55 R, araedt
B T ST MR T :

(A) 52.5 fewm (B) 55 fem (C) 51.6 feru (D) 64 fwm

If the average weight of 6 students is 50 kg; that of 2 students is 53 kg; and that of 2 students is 55 Kg;
then the average weight of all students is :

(A) 52.5kg (B) 55kg “(C) 51.6kg (D) 64kg
sgwﬁﬁuﬁr&qmﬁmmmfaﬁﬁwmaﬁwmm%ﬁrsowﬁauﬁﬁ#saﬁm
T3 el e Rl W g w2

(A) 26T (B) 14 f&A (C) 15 fe (D) 20 f&a

39 persons can repair a tunnel in 12 days working 10 hours a day. In how many days will 30 persons
working 6 hours a day complete the work ?
(A) 26days (B) 14 days (C) 15days (D) 20days

T TR TSt S Fad 990 3R 1330 WY fawifs et 9 shHw: 6 3R 10 Jrathet I B E

The greatest number which divides 990 and 1330, leaves remainder 6 and 10 respectively is :

(A) 35 (B 15 (C) 20 (Dy 24

300 I3 1 fasRa T3, 500 aqaﬁﬁ;a?q@é? SR, T BT A et i S R

S.P. of 300 articles is equal to C.P. of 500 ar] cles Find the loss or profit percentage.

(C) 24(2/3)% " (D) 25(2/3)%

30 Tl 1 ST 1.2 ¥ 157 ¥ e 20 i 3G 1.1 ¥ 3T 9 i 3hvaw 1 ¥, A sifew wem = ¥ ?

The average of 30 numbers is 1.2. The avera e=of the flrst 20 of them s 1.1 and that of the next9is 1.
Then the last number is : F

(A) 49 (B) 4 5 (D) 4.6

Teh 2THT 9 80,000 TIF H T =Hiel aﬁ?@mét@ﬂiﬂlwﬁaﬁaﬁ 10% o Y W 3R St i 5% i
T T o o | S8 SO QR ETRA W 1% il AR 8, T SIS ol AT e T off 2

A man bought a horse and a carriage for Rs. 80,000. He sold the horse at a gain of 10% and the
carriage at a loss of 5%. He gained 1% on his whole transaction. What is the cost pnce of the
horse ?

(A) 32,000 (B) 18,000 (C) 20,000 (D) 30,000

=t FY A T ST e =i Swima 40 T93/ e SR 30 T/ feeium € 1 Sl = 6l fRe

31 7 et ST = i fagon st 32 T3/ fReltm T S=H TR I A0 91w T8 2

The ratio of quantities of sugar in which sugar costing Rs. 40/kg and Rs. 30/kg. In what ratio both
sugar should be mixed so that there is no gain.or loss when the mixture is sold at Rs. 32/kg ?

(A) 3:1 (B) 4:1 .2(C) 1:4 (D) 24

T Taeneft 3 6 Y-S Y vlen & | YhE YE-05 % U sifieman it THEHH T 1 WRA-S 3 IWh
YIiieh 5:6:7:8:9:10 aﬁjmaﬁ%lwﬁmmwﬁ 60% mwm|wﬁf‘mﬁm—1ﬁrﬁ sifyead
bl & 60% W FHH s U< fove ? o §

A student appeared in 6 papers. The maximum marks are the same for each paper. His marks in this

paper are in the proportion of 5:6:7:8:9:10. Overall he scored 60%. In how many papers he received
less than 60% marks ?

(A 3 (B) 4 (C) 5 (D) 2

MYZ-24 ' 11 P.T.O.



85.

86.

87.

88.

89.

90.

91.

92.

T WIS e H, A T G0 % 1/6 % forg Goft &1 1/6 ST T T €, BWW%““ﬁm

gi{:gm mﬁmm%mcmﬁﬁw%mmm% 3 1940 T & e H B H T
?

th
In a partnership business, A invests 1/6th of the capital for 1/6 of the total time, B invests 1/4™" of the

capital for 1/4 of the total time and C, the rest of the capital for the whole time. Find the share of B, 09'[
of a profit of Rs. 1940. - :

(A) Rs. 120 (B) Rs. 160 (C) Rs. 180 (D) Rs. 200
50% 3R 40% ¥ ge fraf Tt 9 3 auer § 2

Successive discounts of 50% and 40% equal a single discount of :

(A) 20% (B) 70% 2. (C) 48% (D) 60%

12,000@?311?9uﬁ%%mzo%uﬁfaﬁ#ﬁﬁamﬁgwmm@mhm%:

The compound interest on Rs. 12,000 for 9 months at 20% per annum, interest being compound
quarterly is :

(A) Rs.2089.70  (B) Rs.2136 (C) Rs. 1750 (D) Rs.1891.50

A TF S 1 63 Tl § R Wehal § 3B, Aaﬁgamﬁ40%aqf%§ma%?ﬁ3@mﬁaﬂﬁﬁsm
o e feAl = dem R 2

(A) 60 f& (B). 45 fem

Acan do a piece of work in 63 days and B is:

_ ;:(o) 49 T (D) 40 f&7

0% more efficient than A. Then the number of days taken
by B to do the same work is :

(A) 60 days (B) 45days = °

@éq792W/Wﬁnﬁﬁwﬁ%%7ﬁmﬁ@@ﬁﬁmw%aiaqafraa’rs‘m
=hifeTq |
(A) 126t ~ (B) 154+t ;MS(C) 150 Ht (D) 118t

A train is running with a speed of 79.2 km/hr and it crosses a pole in 7 sec. Then find the length of the
train. 5 ;

(A) 126 m (B) »154m. . (€) 150m (D) 118 m

AfE fasha 9o 1 7% 8 J & 8% o SIUsR 3R AT Forshat 7o 1 9% 3 e 1 2 T3 9 10% 3ifeen
%, T 9 e 3R faska oo I &I |

If 7% of S.P. is equal to 8% of C.P. and if 9 {g_ of S.P. is Rs. 2more than 10% of C.P, then find C.P. and
S.P.: g

(C) 49 days (D) 40days

(A) 350, 400 (B) 700,800 = -f’(C) 800, 950 (D) 350, 700
1w w E™hi;
3 FRI Y T T AU 3:4:6 T, TT BRI gR-FHM U T8 W H A A THA Tl STIIC R 2

The ratio of speed of 3 cars are 3:4:6. Wh
distance ?

(A) 6:4:3 (B) 4:3:2

sthe ratio of time taken by these cars to cover the same

i[,I’H ot Y_" ll‘

; "f‘:_(C) 2:3:5 (D) 3:4:6

0.7,0.35,1.05 1 7.8.9.(HCF ) e FIRTT 175,
Find the HCF of 0.7, 0.35,1.05.
A 07 (B) 035 (©) 1005 (D) 007

~ MYZ-24 12



- 93.

94,

95.

96.

97.

98.

99.

Ife Forelt o W AT g A 40% 3iferh eiferd § 1 afs a5 & sifird 909 Wx% &l g2 3 9 8, @ 12%
1 ST T W e 1 37 afk ek ¢ I 1 T T 2,400 T © 3R x% A1 Hifeq §, 6 36 7 9]
1 Torshd e 7 B ey ? |

An article is marked 40% above the cost price. If a discount of x% is given on the marked price of the

article, then a final profit of 12% is obtalned. Now if C.P. of a new article is Rs. 2,400 and x% profit is
desired then what should be the selling price of that new article ?

(A) Rs. 2,480 (B) Rs. 2,880 (C) Rs. 3,480 (D) Rs. 2,400

TS I BISH W i eeﬁﬁ?/m%aﬁtwﬁm%mawzﬁmﬁwsﬁmﬁ/w e, 0 9eUd U, 99
ﬁﬁ%ﬁ%mﬁ%’

Excluding stoppage, the speed of bus Is 66 km/hr and including stoppage it is 55 km/hr. How many
minutes does the bus stop per min ?

(A) 19 (B) 20 (C) 10 (D) 15

I o9 qd F IR e weh @ ¥ iR 270 Teuht amed g7 SN €, @ o9 @ forw fawn & e s =S
3?2

(A) =R B T, (Gl T (D) ufem
If you start facing East and turn 270"_5_1?‘9 ees anticlockwise, what direction are you facing now ?
(A) South (B) North =" & (C) East (D) West

i3

lllll

T Trfsra ge o H, ‘ELOWER’ =i FE)ELW' & T H cggldd fepam e % 1 ANIMAL ﬁwmfa@r
ST :

In a certain code language, ‘FLOWER ’_' coded as ‘RFOELW’ then ‘ANIMAL will be written as :
(A) LANIAM (B) LANJAML (C) LAJDNM . (D) LAIANM
fortferfiaa & § 1 1 SIHH AH T e §2

Which of the following sequences is different from the rest ?

a 1,4,9,16 b. 1,8,27,64

. 2,6,12,23 : d.7F%: 1716, 8T,:256 _ ,

(A) 1,8,27,64 (B) 2,6,12,23 (C) 1,16,81,256 (D) 1,4,9,16

mﬁwﬁgﬁﬁﬁﬁﬁwﬁﬁ?ﬁﬁﬂﬁwm%ﬁmmmwmwmw%l

Selectthe optiop in which the numbers share the same relationship as that shared by the given pair of
numbers. B

12:20
(A) 19:33 (B)

u'"
I[m n]

Ml

1 IIIIII

(C) 25:57 (D) 34: 31 g

s § g weAd (A 3R B) mﬁﬁﬂw A T HH T |
Find the missing numbers (A and BQ lq iEhe series and find the value of B=A.
11, 22, 33, A, 55, 66, 77, B by

A s (B 88 (C) 33 (@)

MYZ-24 13 P.T.O.



100. 39 THfd i we=™ St Tt 1 T Tt 7

101.

102.

103.

104.

105.

Identify the figure that completes the pattern.

?

(X) . : i

(A) % (B) % “(€) % (©) %
ﬁt:n%mawﬁ,amaﬁﬁqmw%mua&éﬁmﬁqm%|3aﬁaqa;wa%ﬁ.'qm¥@'a‘737@
T ST F& A&l ST S Gehell § | U VS Y Yg=H |
e T o= ¢ “MACHINES”

In the following question, you'll find four other words provide i
words cannot be formed using the letters of the given word. Can you id

Given word : "MACHINES” y
(A) SEAM (B) NAMES (&) CAMEL (D) MES

frefafad STgHT = TR | S H ¢ iR SUH, AR A o1 T P S|
RK59#B2%*E?A8L$14SV7IC6N@H13&D

D T sfEen ¥ s ug fruifa w542, *?78:$4
Examine the following sequence closely and respond to the questions that follow.
RK59#B2%*E?A8L$14SV7IC6N@H13&D

Determine the next term in the series : 5#2, 78,54V,

d alongside a given word. One of these
entify that word ?

(A) Hi1& (B) L8% (D) le@
eIt v WS

IECaL I e s IR L s -

(A) 1 (B) sm@ . . (C) WWugdw = (D) =gy~
Find out the related word : :

Triangle : Polygon :: Square : ? -

(A) Circle (B) Rectangle (C) - Rhombus (D) Quadrilateral
HeYd 93 1 qdl o | '

vIed Tafercdss : g :: oeg @ ?

(A) FaT (B) & AR (D) U
Find out the related word.

Surgeon : Scalpel :: Carpenter : ?

(A) Camera (B) Brush Saw (D) Computer

4 71 ‘RECONGILE’ & 43, 53, 73 3R 83/378rd & woh el <R o787 o1 912 ST 11 el 21 &7
T8I T TANT FTh feha S1efqul 9reg T S Hhd € 2 |
A @ G B) - L4C) =R (D) T

If a meaningful fourIdtters word can be formed from the 4th, 5th 7th and 8t |etters of the word
‘RECONCILE’. Using that letters how many meaningful words can be formed.?

(A) Two (B) Three (C) Four (D) One

MYZ-24 14




106.

107.

108.

108.

R 2]

200 BT o HALU & SMUR W, 140 BT I Fics fE wig §, 120 B H foehdiss 16 3, ek 8o SEH
I IHT TEE € | fohan ol | TH 99 TEE § 2

Based on a survey of 200 students, 140 students.like cold drinks, 120 students like milkshakes, and
80 students like both. How many students like at least one of the drinks ?

(A) 200 (B) 140 (9);@. (D) 75

& T sfEen § @ TR WG T HIT : Fa

Find the missing letter cluster in the given series.; ;
BYHN,CWKM,EUNL,___ ,LQTJ J

(A) HSQK (B) HRPQ (C')-eJi GSPK (D) GRPK

Frefifias & @ S T o wheeel, TR SR fre & e e FY T o g § wwi 22

Which of the following diagrams best represents the relationship between Women, Mothers and
Fathers ?

@ o Qg - O

= T T/ IR U0 Y IR Ht 2006 aﬁtzom
Tt (1000 =i S #) i1 g | :

The bar graph given below shows the sales of books (|n 1000s) from six branches of a publishing
company during two consecutive years 2006 and 2007

2006 aﬂzzooﬁ@mmemﬁraﬁ@gwaﬁ ,A2 A3, A4, A5 3R A6 ¥ T&ishi i Tasht (TR
%I 9 H)

w'@mmaﬁwwﬁ@mﬁ

\\.t.;

I

-A1

Sales of Books (in thousand numbers) from Six Branches A1 A2 A3, A4, A5 and A6 of a publlshlng
Company in 2006 and 2007.

}

20| o
100
80
60
40

20

0

Al A2 A3 A4 A5 A6
E2006 2007

‘q‘rﬂ“‘rm‘f%ﬁqwmﬁ%ﬁaﬁmaﬁaﬁ%mwmaﬁwﬁﬁﬁmw%?

What is the ratio of the total sales of branch A2 for both years to the total sales of branch A4 for both
years ?

(A 79 (B) 6:7 (C) 57 (D) 8:9

MYZ-24

T imaae

15 P.T.O.



110.

111,

112,

113.

114.

p ?

" = e 0 g e v, g e ), 8 well 9w T <51 27T I © ¢
(A) =l |y T
(B) TUUY I g TSl Tl
(C) =Imaet Sfereen H 9l TR
(D) AT i hred A
In the context, “They were caught red-handed trying to steal”, what does
(A)  Found with red-hands =
(B) Caught in the act of committing a crime
(C) Foundinjured &
(D) Act of kindness - e
RO Y W iR et e B e S e w9 8 RO 1 e ST |
UG : | o 9o o e €, O S & i ¥

I S S R
fremd: 1. ot o w6t ael B

2. W WS H A R
(A) ST Fremd sTgeRw R ¥ (B) e Frepd 2 TG FWM E
(C) A Frerd 1 SR TH 2 ST FAR== (D) Foyel Frewd 1 STTE H € .
Read the assumptions and select the best conclusions/conclusion that follow/follows the assumptions

definitely.
Assumptions: |, Ajay is the father of.

“caught red-handed” imply Y

|

.

Ul

f Shreyas, Suraj is the brother of Shreyas.
“Il.  Seema is the mother-of Shreyas.
Conclusions: 1. Seemais the wife afAjay.
2.  Seema is the motherof Suraj.
(A) Both the Conclusions follow —~-(B) Only Conclusion 2 follows

(C) Neither Conclusion 1 nor 2 follows l—: = (D) Only Conclusion 1 follows {

S g t
ATA%B=A+B—1,W10% 2 FME? s 2}
If A%B=A+B—1, whatis 10% 2 ? . | : >
A M (B) 12 (C) 20 D 5

Teh AT 10 HIZT ST T SR =erer &, Fre 20 Hex I IR = &, fR 20 Hiex i iR wreren €, e S
10 HieX T SR Tl § | 98 Y& | 79 qh bt X el 71§ 2

(A) 28 X (B) 51 HH (C) 25 = (D) 45 ¥

A person moves 10 meters north, then 20-meters to the right, then 20 meters to the right once more,
then 10 meters to the right again. How far.has.he gone from the beginning ?

(A) 28 meters (B) 51 meters =< (C) ' 25 meters (D) 45 meters

e <6t 7 H ST A 55 fobell & ARLATR 62 fre & FW §1 3 fom it @ wewa T ¥ sik
I W1 & T <hifdieh <1 o 50 fercll § SAGT wifeh 60 ferelt & i ¥ 1 Wkt sl 1 TR ¥ o, 39t
T 58 fehefl § aifereh =& & Wehall § 1 AT Wt 3T STTAH H W, N i & fafvw dunfew W @
SEd R ? ' _‘ L

In Karthik’s opinion, his weight is greater th‘gﬁn”?gs kg but less than 62 kg. His father does not agree with
Karthik, and he thinks that Karthik's weight is.greater than 50 kg but less than 60 kg. His sister’s view
is that his weight cannot be greatey than 58 kg. If all are correct in their estimation, what is the average
of the different possible weights of\Karthik ?

(A) 57 (B) €0 (C) 59 (D) 58

F I T P Y

—

niyg
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115,

116.

117.

118.

119.

120.

121.

122.

123.

Ifg A 3R B I 9= 39 YHR & i, Aﬁaa‘faftﬁmzo%, B # dceil &l S 18 € iR A ik Bl A
el ! W& 10 §, @ n(A L B) 1@ T,

If A and B are two sets such that number of elements in A is 20, number of elements in B is 18 and
number of elements in both A and B is 10, find n(A U B).

(A) 38 (B) 48 = (C) 18 (D) 28
< T SfEen § | 90 Bl ge ¢

Find the odd one from the given series :
4, 16, 36, 64, 100, 121, 196, 256

(A) 121 (B) 100 ”‘;.‘;,(C) - B %
@S 1, 6, 23, 76, W STIelt W u i |

Find the next number in the series 1, 6, 23, 76,

(A) 274 (B) 148 (C) 198 (D) 237

48 I T M F1 14 Tfl & v wha T 12 feli & 5 7ol 510 BrT T8 e =9t wmm 3 Fif
48 men can do a work in 14 days. Find the amount of work done by 5 men in 12 days.

(A) 13.5% (B) 9.8% ‘ (C) 7.9% - (D) 8.9%

w&mT;BSBEAxméamaﬁmm@@amwmm% W EA & M & 4 BR

Q BT & F M2
If the name of a game is formed by rearrang'mEthe letters of the word TLBSBEAKLA then what will be
the sixth letter from the right end of the name~of the game ?

A T (B) B (C) S (D) E

q@ H &A1, 12, 144, .. 2073631335@;. ' T ;

Find the missing number 1, 12, 144, . 20736

(A) 1278 (B) 1782 “%1(C) 1287 (D) 1728

afg RED & UHG & &9 ¥ whifed faran siars aBLUEaﬁmmﬁaﬁmmm7

If RED is coded as UHG, then BLUE will be coded as : " vy

(A) EOXH . (B) EOHU (C) EOHX (D) FMUH

ferer wrch ok g=A o T 3o <hraier @ <farr i ok 8 et v ¥ st o o iR T € siv e
fomet oo Tge % o 15 Hiet s ¥ 1 i o wE it faada T F 90 feuht qea ¥ ofk wiwt Wi 9%
ngaﬁ%msiﬂaaam%Wﬁ@wm%ﬁxm@%ﬂwsrﬂam%lfﬁm%m#w

H srfad fea fem d §2 ,

(A) dfzm - (B) <& . .(C) W ‘ (D)

Lihaan walks 8 m towards South from his offlce to reach park. Then he takes left and walks 15 m to
reach traffic signal. Then he turns 90 degree anti-clockwise direction and walks 8 m to reach coffee
shop, he takes left and walks 8 m to reach home Office is in which direction with respect to Lihaan's

home ?
(A) West (B) South et (C) North . (D) East

T foan gue 4= #, R e = qa few Q, 135 ﬁaﬁwm%mﬁ:wa@ﬁﬁmﬁmmeﬁ
giaru-ufem forg T & Srm 2
(A) IWR-ufzm (B) ST {2 ‘(C) (D) SW

In a compass every direction is rotated to 135 degrees from the original direction. In which direction

will South-West be if the rotation took towards clockwise direction ?
(A) North-West (B) North-East (C) East (D) North

i

1"’
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124,

125,

126.

127.

128.

- -129.

130.

131.

T FMrm s ®, N w Y, S R D, RFQ, O FP, T K, MHZ, A M STG FTS
T < &, 3 e § "ORGANISM' 7 Ry s 2 | .
In a certain code, ‘N’ is written as ‘J', 'S'as ‘D', ‘R as ‘@, ‘O’ as ‘P, ‘I'as 'K, 'M'@s Z,’Aas e

as 'S’, then how will ‘'ORGANISM’ be written in that code 7

(A)  PQDZSMKJ (B) DZMSJPQK  (C) PQMKJZDS (D) PQSMJKDZ

Saﬁﬂﬂﬁﬁmaﬁxﬁ%aﬁ@%ﬁawwmm%7

What is the angle between the hour and minute_hands of a clock at 3 o’clock ?
(A) 30° (B) 50° (C)-. 75° (D) 90°

AR 53 + 243 =24.249 ¥, A 192 + 153 il A 1 A ?
If 543 + /243 = 24.249 , then what will be the value of 753 + 1543 ?
(A) 38.84 (B) 37.84 (C) 40.84 (D) 39.84

T T N U ST, e T, se TR S S afi i e 32 & TRam d 9 9= e
& e o 32

A party consisted of a man, his wife, his four sons and their wives and three children in each son’s

family. How many were there at the party ? : 8
(A) 20 (B) 22 TR

6 SR U, V, W, X, Y 31 2 579, 7 71 3 oF; U 9 o & aeerf 9 <fe €1 W, V & o , <
1A AN X, W H BRI R1Y, U o=t X, U & Sier 1 37 @ =ie gad ol i § 2

Among 6 persons U, V, W, X, Y and Z, it is knownthat; U is taller than at-least 3 persons. W is taller

than V, who is taller than exactly 1 person. X is naf shorter than W. Y is taller than U and X is shorter
than U. Who is 4!" tallest among them ? ==

(A) U B w & Aoy
= 31t @ISt |

Find the dissimilar word.

R54, W68, U63, L36, Y75

(A) R54 (B) Ue3 (C) Y75 (D) Wes8
¥ o8 & TIM W 374 Iiell &I [ hifee | =

Find the number that comes in place of the qu{s’ﬁ n mark.
1:1:7:169 ="

(A) 15 (B) 13 :_): 18 . pr (D) 14

(I

23 (D) 18

Ui

My

g

||'ll[

il

I

i
X

©) V.

Il

| iy
Qi
il

|

M, N, O, Paﬂthiafqa%mﬂﬁﬁuﬁmﬁ'wiw—m%lo, P 3R N & &a § iR et M sik
Q9 B ¥ | had Tk Al N @t@’m%lwﬁaﬁg{ﬁ?%?

M, N, O, P and Q are five friends. Each of the@r@s a different height. O is taller than P and N and
shorter than M and Q only. Only one person is shorter than N. Who is the shortest ?

A M (B) O (C) N D) P

MYZ-24 ‘ 18




132, mﬁwmmﬁmﬁmﬁﬁaﬁ?—@mm7

Which of the following figures will come inith

7| O] ?
® O (B) O

133, Frefarad Sae § Tad HeT S e H |
. Identify the incorrect number in the following series.
12,10,6,1, —8, —18

(A) 12 (B) 10 (C) -18 (D) 1

134, T A Wi € b, 25@13%%%3151%&1111 ZAHE § HPT < 1 e fora | Al TR S HiE 9
ﬁam%a‘rézjﬁzﬁwﬁrwﬁ%ﬁfﬁmmﬁaﬁmmﬁ%ﬁqwﬁ%ﬁﬁwmw
£

In a school sports club, 25 students demded to partICIpate in a table tennls singles tournament. Each

time a student loses a match, they are eliminated from the tournament. What is the minimum number
of matches required to determine the wmner?

(A 25 (B) 26 " 35{(0) - o (D) 24

e-missing place in the below figure ?

i
il
li ne

IITH d
m

135. HI9-YaRH = SR T T, mwﬁﬁwﬁww% wmwwﬁmmm%?

(A) Tl (B) Wl (C) TEUEIET (D) Isiten
What is the shape of the cross-section, when a cone is cut by a plane parallel to its slant height ?
(A) Ellipse (B) Circle (C) Hyperbola (D) Parabola

136, oo 1 e ) '

Find the odd one.

@ @
® @ (B) @
S @

137. =% fasea g < anferdl @ Fomt 1

(]
o |(%)

(A ot emfem () &M (C) RwmemfE (D) R

Choose the option which is different from the rest.

(A) NorthAmerica (B) Argentina (C) South America (D) Europe
- MYZ-24 19 ]
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138. fosca A, B, C iR D # 9 o (X) =1 9t wret-wfafetar g

. nd D.
Choose the correct water-image of figure ( A,B,Ca

X N
=
i o __
3w =
AT X /B [X ()
139. WY W :
W:W::W:
® s @) T (o) S

Complete the analogy :

Rain : Flood :: D ht :

(AE;In Facr)noine 94 (B) Storm (C) Harvest (D) Abundance

140. T Tl iR TR--elieuita Sl &id 3Te § w=iifn |

(A) eI S i aikfi € setn R-Teieeia et g ord S

(B) ﬁ?—?ﬁmmﬁ@aamwmaﬂ@ﬁﬁwm#ﬁw%l .
() FR-Tefiswvita S Hirr 2 & Tt A ¥, ST, Feftevtiar o @i ool & o1 B <
(D) el St Sl h THY & e @S

ST E T o e |

A renewable and non-renewable energy source arédifferentbecause .

=

B9 Y R Y 9 ST GHT &, SR R ehd

(A) Renewable energy sources are finite, while-non-renewable energy sources are mfmbl}e. i
(B) Non-renewable energy sources are more=environmentally friendly than renewable energy

sources. g

(C) Non-renewable energy sources are derived
derived from the Earth.

from the Sun, while renewable energy sources are
Al

(D) Renewable energy sources can be replenished naturally over time, while non-renewable energy

sources cannot.

141. Tnerent SR BT Wied 1280 SfeRm 1 Toh T T Woie § 9 & @1 % | 9f 90 15 o6 & faw, T

e B, < THE H foran frews €2

A group of 1280 individuals, consistingxof teachers and students, is attending a conference. For every

15 students, there is one teacher. How many teachers are in the group ?
(A) 75 (B) 80 (C) 85 (D) 70

142. @ e {8, SMepfa (X) F fow T¢ wel @ B-50, nepfer 18 =1 et 22

Find out which of the figures can be formed frong e.pieces given in figure (X) ?

@® |7 (B) E

(D) | '

MYZ-24 20




143.

144.

145.

146.

147.

148,

HI-T1 Ve TR B TR § 2

(A) TSR (B) el (C) ¥= (D) =&
Which word does not belong in the group ?
(A) Carrot (B) Banana (©) _ Apple (D) Cherry

T O H, FeI REerEt 100 STt | & Bl ¥ | Weleh SR H, weh Faed stk wifeet o1 @ w1 5 TR
% 1, Uferd o 130 37 €, e % 90 ofeh T, =Ml 120 sfer ¥ 2l fers F 110 ot ¥ af Sfye I 7=t
3 TS H 30 3k W Ry, T 3ifir 2 WS H I Fhew ater et 2

In a game, each player starts with 100 points. In each round, a player can gain or lose points. After

5 rounds, Alice has 130 p(_)ints, Bob has 90 points;.Charlie has 120 points, and David has 110 points.
If David gained 30 points in the first 3 rounds, how.many points did he lose in the last 2 rounds ?

(A) 40 (B) 20 (€)% 30 (D) 10

Gyt =

I A+BEH AL TREA, Basrw@%;AxBanwf;%—%A, BH i3 sIRA-B# a1d ¥ fF A, B3 5
2, Frafafed o § SH-1 Heiy guia & |, K 99 qdish 22

IfA+B meansAis the_ brother of B; A X B means A s the father of B and A—B means A is the sister of
B, which of the following relations shows that | is the niece of K ?

A) K+Yx1-Z (B) Z-IXY+K  (C) KxY+I-Z (D) K+Y+Z—I

few T ot # Frypeil (ZrRiTew ) * dem gs
Find out the number of triangles in the figure:
1
3/4|5\6 g
2 718
10 32 13 :
14 16 w3 |
15
(A) 39 : - (B) 46 (D 38
3T < TSt | 3

Find the next one.

*
(A) v (B)

oo g |

Find the odd one out.

o [ @ A

o | NA
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(A) 2 F T e S (B) SHIFEEATCTAE
(C) i Kt % Feem et § (D) aﬁm@ﬂ%’rﬁaﬂ'{ﬁ%
How are rivers and streams similar ? ‘

(A)  Both contain saltwater (B) ~Both are found in deserts

(C)  Both are static bodies of water (D) ~Both flow downhill
150. HR ey ¥z & Wb geed! o o F oI vt w frem R -

a. 1 7o, 2023 T 31 28 § 28 W h wft
ST A Wi S | 7
Y 60% S F W HR TS F dreeirqee ferlt |

g W 50 ® | =Jaw 25 37 | pll

af TRER F TG PG T &1 A1 HI IR G wee 1 e S e

af SeieaR S = i W T S &, O At Ay e & fifawe AT S
wﬁ?ﬁﬂ@g@maﬁmmwﬂzﬁwﬁaﬁ@m% S e g % FRwe w A
NI

Frafafad STl & SR W wY FaR & T SH- HiiaE @ s e ? ‘
Y FR : M.Sc. T Hos TR 62% i % |1 | 5= fifer : 10 ST, 1990 | e feh & w9 3
4 WIS 1 SIS | 3 H 40% 3 It Feh L

(A) SHHISER Sl R G e & 9 A5 S §

(B) SHficaR @ T fhar sy m
(C) = eTvara ¥ —~

(D) Wl F% & TRY AT

Consider the conditions for selecting facuL_gyJTnembers in a computer education centre :
Age between 23 to 28 years as of November 1, 2023.

Work experience or programming eip@ﬁience. ;
Postgraduate degree in computer application with at least 60% marks.

Minimum of 25 marks in the interview out of 50.

If the candidate does not have PG, the case is to be referred to the senior faculty member.
If the candidate does not score minimum marks in the interview, the case is to be referred to
principal of the institute.
g. Ifthe candidate satisfies all other qualifications except the age limit, the case is to be referred to
the director of the centre.
Which course of action should be taken for Manish Kumar based on the following information?
Manish Kumar : M.Sc. in Computer Scienég;@th 62% marks. Date of birth : July 10, 1990. 4 years of
experience as a computer teacher. Obtained.40% marks in the interview.
(A) Candidate is to be selected as a jundion-,faculty member
(B) Candidate is not to be selected = ¢
(C) Datais inadequate i
(D) Case is to be referred to the director“‘g_fé the centre
_ ] ;
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